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Theorem (Kepser and Rogers, 2011)
Let L be a tree language. The following are equivalent:

I L is definable by a
non-strict tree adjoining grammar.

I L is definable by a
monadic linear context-free tree grammar.

Theorem
If a tree language is definable by a

non-strict tree adjoining grammar
then it is also definable by a

monadic linear context-free tree grammar.

new direct construction:
productions resemble shape of elementary trees
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(non-strict) tree
adjoining grammars

vs.
linear monadic

context-free tree grammars

A

︸ ︷︷ ︸
n arguments

⇒
B

B∗ A ⇒
A

x1x2x3
→

x3x1x3

A
A

x
→

x
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equivalence proof by Kepser and Rogers

lm-cftg

lnm-cftg

spinal-formed cftg

collapse-free
lnm-cftg

footed cftg

(ns)tag

A
x →

A
x → x

A
x
→ σ

x

A

x1 xi xk
→ σ

x1 xi xk

A

x
→

B
...

C

x

+
σ

D x γ
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A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . .

⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x

D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x

D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x

D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x

D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . .

⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



A
· · ·

⇒
B
· · ·

⇒ . . . ⇒

...

D
· · ·

I order of siblings unaffected

I conceive siblings as 1
argument

I plug parent node on top

B∗

LA,DM

x
→ LB,DM

x
D∗

LD,DM

x
→ x

LA,DM

D
· · ·

⇒ LB,DM

D
· · ·

⇒ . . . ⇒

...

LD,DM

D
· · ·

⇒

...

D
· · ·

5/9



I: b

1:

a

a a

b∗ a

2:

a

b a

b∗ b

b =⇒

a

a a

b a

=⇒

a

a a

b a

b

b a

b

yield language: w b w for w ∈ {a,b}∗
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I: b 1:

a

a a

b∗ a

2 :

a

b a

b∗ b

S →
b,

b

b

b,b

x
→

a

,a

a

a

,a

a

a

,b

b

b

,b

x

a

,a

a

a,b

x
→

a,a

a

b,b

b

a,a

a

b,b

x

b,b

b

a,a

x
→ x

a,a

x
→ x

b,b

x
→ x

b,b

x
→ x

guessing:
one-state nondeterministic top-down tree transducer
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conclusions

(non-strict) tree adjoining grammars and
linear monadic context-free tree grammars are equivalent

new construction: nstag to l(n)m-cftg
direct and productions resemble shape of elementary trees
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